Chem 342 Orgapic Chem |l Quiz 06

03 May 2002

21 points (3 points each) Mark your answers on the scantron sheet. You may keep this copy.

1. Which of the following structures is a product of the reaction of acetophenone with iodine and
NaOH?
0] l>, NaOH 0] o

Ph)kCHs a) CHI, b) CH,l c) Ph)LOCHs d) Ph)I\H

2. What is the product of the reaction of cyclopentanone with the following sequence of reagents?

) Bro, CH3CO.H
y?ldlne3 ? Q:O I:}:O
O~ Do 4O
a) Br b) Br c) d)

3. What is the product of the reaction of cyclopentanone with the following sequence of reagents?

[ > tﬁéHzBr Eto I:to Eto [éo
a) Ph  b) Ph ¢ Ph d) Ph

4. Rank the following molecules in order of increasing pK,.

6 0 a)A>C>B
<:>:O CH30H )J\/U\ b) C>B>A Because the greater than arrows are
backwards for pK,, credit is given for
B c c)A>B>C

answer C as well.
d)C>A>B

5. Which protons on the following molecule are most acidic?

0] H

Ha, Ha C.CHC a)A
HBO Hc b) B
o c)C

Hd Ho d)D

6. Which of the following molecules is the structure for LDA?

_L _<—H 4N—Li _@J\? =
e T e

7. What is the product after the following reaction sequence with ethylacetoacetate?

0 0 o o

O O  1)NaOE, EtOH
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